n Solve all 6 equations. Show all work. For#3 and 6, justify each step using math properties.

2.8 —=2(x+3)=4x + 2

3. 2L, 6= 10 4. 12x — 4(3x — 5) = 3(6x — 15)
fx-1)_3 3
5, -0 _3_ gy 6. —4(2x - 9) + B¢+ 1) =

. 2P -3+ 5= By + 1) =L 2.

B. = /¥ =1) = 1%+ 8{x + &) 6.

+E5x=9x—-1)—-3

Convert between degrees Fahrenheit and degrees Celsius using the literal equation given.

necessary, round the answer to the nearest hundredth. .
>>aly J ' Before completing #1-6,

solve the equation for F.

C=3(F-32)
1. 72°F 2. -11°C
3. 107.6°F 4. 25oC

. 42°C 6. —3.4°C

1.y=5x+8 2, y=—ax+2
3.y=%x—6 4-,’*";}3(—3
5.y = —5x— 13 6.y =31+ 10

BSowe each equation for the variable indicated.

1. The formula for the area of a triangle isA = ;_—bh. Solve the equation for .
2, The formula for the area of a trapezoid is A = -}(b‘ + b,)h. Solve the equation for b,.
3. The formula for the volume of a cylinder is V = mr*h. Solve the equation for h.
4. The formula for the volume of a pyramid is V = %—Iwh. Solve the equation for w.

5. The |deal Gas Law is pV = nRT. Solve the equation for T
6. Solve the literal pquation 7 = ?,—'\ + 3W for X.
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-3(x-4) = -9 (x-1)
i %(;ﬂ%: qx+9
!*q}( X

t+(7) = q
| (DX-JZ 11
%= -3
o G

: - [3x_ 10
2 9-(3-9

—2xk1 4 12)= 3% 20
~2x+13 = 3x -20

+2x 2%
3= S5x-20
+ 720 +20_
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4,12 x-4(2%x-5)= % (bx-15)

|[2x = Zx + 20 =2 x —5

/OX"'ZO = Zx* 5
- 2x -7 X
'3’)( 120 = —6
5x= 2°
X= 7§

K= ﬁ’li o “00_5

—2(){\1“3) IZ/)(I‘?—
8 %::*ZK'(Q = L/fo
(ox =G =Uxt]
-Ux -L|;<
Ax-G = D
+G6 46
Dx =
s
x= 4
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5. Uy-1) = ~I5x ¥ ¥ (x+2)

Ix=7 = -15x*+*8x+6o
Ty 1= ~Ixtle
+x rlx
IUdx-7= (G
Hx = 2.2

y
.y




(o ~4(ax-9) +6 Cxtl) =-Fx *5(3{%)

LI Ao =l x +& = -Bx—[9x distnlvtie  ppty

Bx —lx +30 + 6 = ~Fx - 15x +(9 commotahve got,
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“IxYorEG =(gx-~GtHx
x| = -2%x -G Axt| #]2= Ix~Y4 +|7]

NO Soluond 2xd3 = 3x4|3
inbnke  solutons

@L 20x ~2(x+10) = =(5-2x) @5%(#'25}@ (x +?)4-BS

L Jox-2x-20 = "OD12x

1820 = ~5%2x 3 (x-12) = ~20k+4)+5
one  solofon 3x-30= 20x 180 +5
‘ one JDIU’KG(‘
@-1(x-1)=15x 49 (x+2) BBt Sx= ) - 3
i “Ix+7] =19 +8 * |(o Ll)(—\'l +5% P -9-3
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(3) Converk between degrees Fahvenhe b and degres Celsios.,
& F5D) - ()

C=F-32
+3 2 +372

F=3(+32

T N

AC’%(‘U—Q) @ C=3(-1-32) (3 C> F(o2632)
C=3%.2"

=020 0-93.9°
@ F-3(9)+32 @ F-2({)H2 @ F- $(34)82
F‘-77° = |0'7‘(D F=75.9
[1] (onert fom  Shmdard bra o Slofe - intercept+ 't
@ Hxrloy =4%¥ @ 3-5y=75
i"’lx ~Yx -3 —
Gy = —dx ¥ Sy =3xS
;2_}’3“7 \/\}’%‘X—S
® -4x+dy =4S @ bx-2y=-52
‘ +Ux L4y ; oxe e
— Ay U+ 1S 24 = %~ 52
! yv‘ ThE ;’:5 x *20
@-x‘x\[ =4 @ \7_><+28Y = -84
-I—X + Y% _IQX __|2>R
28y = -0x-8Y
s S
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=il @ (y 3X6)3
tx y=2x-I8
L’x+\/ -.2 ‘Z,'( ’2)(
Ixt3 =-1%Q
z:‘S)(-Ig © G’%X*’O /7/
x FOx 4y = 3x+4O
+\/ :—]3 -3 x -3 x
~3x+"l.\; =40
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